WALT: Be able to divide using a written method.
Answer these questions using the short bus-stop method.
57 ÷ 3 = 19



	Bronze
	Silver
	Gold

	36 ÷ 3 =
	88 ÷ 4 =
	102 ÷ 3 =

	       44 ÷ 4 =
	96 ÷ 3 =
	72 ÷ 4 =

	64 ÷ 2 = 
	65 ÷ 5 = 
	       96 ÷ 6 =

	28 ÷ 2 =
	48 ÷ 3 =
	98 ÷ 7 =

	93 ÷ 3 =
	84 ÷ 6 =
	87 ÷ 3 =

	55 ÷ 5 =
	91 ÷ 7 =
	96 ÷ 4 =


	Bronze
	Silver
	Gold

	36 ÷ 3 = 12
	88 ÷ 4 =22
	102 ÷ 3 = 34

	       44 ÷ 4 = 11
	96 ÷ 3 = 32
	72 ÷ 4 =18

	64 ÷ 2 = 32
	65 ÷ 5 = 13
	       96 ÷ 6 =16

	28 ÷ 2 = 14
	48 ÷ 3 = 16
	98 ÷ 7 =14

	93 ÷ 3 =31
	84 ÷ 6 = 14
	87 ÷ 3 = 29

	55 ÷ 5 =11
	91 ÷ 7 = 13
	96 ÷ 4 = 24


ANSWERS: 
How many times does 3 go into 5?





It goes into 5 once and has a remainder of 2.

















How many times does 3 go into 27?





It goes into 27 nine times and has no remainder.
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